YE30FE MEI<DRIVESEDIRZAER

EBEORMX IS -5 1 RE

SBA> (st - D)
s B % & g =&
115 5< DS 7,860,230 BN, BN ES0EHE
HERIEAE O
STHES 51,463
it 7,911,693
< et > i - )
B B &= & g &
e 1,366,782
;- 387,080
$HE 979,702 |ZHBED
e 6,544,911
N—REE 4,978,680
VD R EE 1,566,231
; 7,911,693
(i - 7
TR O




ON— FSEHENAER

[ PEFEEES
EhEER A B & %8
5t 0
WERALE (SEMTRE)
EhEER A e & %
5t 0
WAESAT « [HIBKT CREFIREDH)
EhEER A e & %
{dh] 15 46,000
5t 46,000
BH-—T=5—
EHEER A = & %8
5t 0
BAED
EheE R A = & %8
&t 0
BIR SR
EheE R A = & %8
5t @)
B OSSHEPRE
EheF R A = & %
NEVDZTH (E5& 150,000
BN RE 100,000
HEBEE RE 50,000
5t 300,000
| NS EEE
EhEE R A = & %8
fEH B = BIRER 135,000
8)1108 KBEEHIE 95,000
] BYCKTRIME, 1 RGBS HA 40,000
LRE] foKEISE 36,000
5t 306,000
BERERE
EhEER A B & %8
5t 0
BDIRIREEEE R
EhEER A B & %8
3] PoSEiiER & 244,000
B —X PSS B ERER 71,000
5t 315,000




BSEBEFER

ECESE A B & &8
5T O
BEBIFEIR
ECESE A B & &8
5T O
WS FERE
EEEN A B & B8
Aen—TH BHIBKT 32 H#A 83,000
) || RE] BHIBKT 32 H#A 20,000
AH] BHIBKT 32 H#A 60,000
{PET BHIBKT 32 H#A 126,000
£)1108 BHIBKT 32 H#A 130,000
WA BHIBKT 32 H#A 123,000
BB — X BEIEKT 2R 87,000
UR5RE] BEIEKT 2R 135,000
5t 764,000
BRRESRD
EJCEIEN A B & B8
AeD—TH JI—e—%5— 18 31,000
{PEy OS5V EIILTREEA 146,000
A T2V —thEEA 10,000
F&y DLEER 3R 300,000
rilles)=1] FERgFEBA 33,000
5T 520,000
W (5IE R Ge
SSEEIR A B & 38
5 O
H-Z Dt
EiICESLEN A B & 38
&y L HEIETEEIE 1 LIS E 50,000
1 81THXBYIxE |—2150,0008 (RiNE22,320M) 2,677,680
5T 2,727,680
IN—FSEEEGE 4,978,680




OV FEEAR

WEEPEEY
EEFEAR N B £ 8 (M
=2 =-5+42% RIEEE 581,219
/) EESEER [CEBNTEBHE] 182,046
1 TEFEBEE (I-HH=E) 46,774
1 LEFEEE [ 3BARHE] 46,774
/) IBREBEEELSIOEN 72,530
/l SHEHEVIRYAR 173,764
1l RERRIERE 15,300
£t 1,118,407
BRI EE
EheE A N B £ 8 (MW
BERYFEDIST iRy R G 189,064
BBENERPTA ¥ —H=MmMENBE 100,000
£t 289,064
BZDMEZE (LR« 1TERESES)
EheE A N B £ B8 (M
I - T1R5:5& PRI N kT 52 B 2 73,440
1 FREETEINRAY— « FSIYBRHBE 85,320
£t 158,760
VD RBEBSE | |  1,566,231]




